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QUESTION 1

Which service is integrated with IBM Cloud Object Storage to reduce the cost of the long-term storage of backup data? 

A. IBM Cloud Backup 

B. Veeam on IBM Cloud 

C. Snapshots for File Storage 

D. VPC Block Storage 

Correct Answer: A 

Reference: https://www.ibm.com/cloud/object-storage 

 

QUESTION 2

Roles can be assigned on which two levels in IAM? (Choose two.) 

A. Role 

B. Platform 

C. Cloud Metering 

D. Network 

E. Service 

Correct Answer: BE 

Reference: https://cloud.ibm.com/docs/account?topic=account-iamoverview#:~:text=between%20services
%20documentation.-,Roles,platform%20management%20and%20service%20access 

 

QUESTION 3

Which IBM Cloud for VMware Solutions add-on service provides load balancing and traffic management services at a
local and global scale? 

A. HyTrust CloudControl 

B. HCX 

C. FortiGate Security Appliance 

D. F5 BIG-IP 

Correct Answer: D 

Reference: https://cloud.ibm.com/docs/vmwaresolutions?topic=vmwaresolutions-getting-started 
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QUESTION 4

Which statement is true about a Hybrid Cloud? 

A. It is a deployment model that requires the largest capital expense to deploy and to scale 

B. It is a platform for applications and infrastructure that is built on two or more components from public cloud, private
cloud and on-premises IT 

C. It is a platform for applications and infrastructure for system-z that is built on two or more components from only
public and private cloud 

D. It is a collection of cloud resources made up of IaaS and PaaS from a single provider\\'s public cloud 

Correct Answer: B 

 

QUESTION 5

What is an Availability Zone? 

A. A Kubernetes feature that deploys worker nodes into a virtual private cloud 

B. A networking service that offers accelerated cross-region performance and increased throughput 

C. An independent fault domain designed to improve fault tolerance and decrease latency 

D. An ISO requirement for multi-tenant cloud environments 

Correct Answer: B 

Reference: https://cloud.ibm.com/docs/Cloudant?topic=Cloudant-faq-availability-zones#:~:text=An%
20availability%20zone%20is%20an,most%20IBM%20data%20center%20locations. 
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